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53828 | 701% i JElgE T EE 7.8 |—
53829 601X B Jeli T R SE 7.7 —
53830 | 601X i JERE T PEEE 7.7 |—
53831 501X B Jeli T BESE 7.7 —
53832 | 401% PEL s JERE T PEEE 7.7 |—
53833 501X B Jeli T BESE 7.7 —
53834 | 601X Bt JERE T BEEE 7.7 | —
53835 | 501% B JEIRF T BIE 7.7 |—
53836 ;g?% 2 JER T ERIE 7.7 |—
53837 | 401X LY JEIRF T BSE 7.7 |—
53838 | 201% 2 JER T BEIE 7.7 |—
53839 | 201% Bk It BEEE 7.7 | —
53840 | 101% Lk JEIRFTH FEE 7.7 | —
53841 | 201% 2 JEIRF T BRIE 7.7 |-
53842 | 20f% Lk JEIRFT FEE 7.7 | —
53843 | 201% Bk Lt BEEE 7.7 | —
53844 | 201% Mk JEIRFTH FEE 7.7 |—
53845 | 301% ik JEIRFTH FEE 7.7 |—
53846 | 201% Bk JEIRF T FEE 7.8 |—
53847 ;’g{’fm" BE IE Rt PEEE 7.7 —
53848 ;g% Bk JEIRF T FEE 7.7 |—
53849 | 80ft Bk Je Mt BT .7 |—
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53850 | 601% Bk Gt EE 7.7 |—
53851 801X ik = BEE 7.8 —
53852 | 701X i JERE T PEEE 7.8 |—
53853 501X B Jeli T ESE 7.7 —
53854 | 101% i JERE T A E 7.7 |—
538565 601X B Jeli T ESE 7.7 —
53856 | 501% PEL s JERE T PEEE 7.7 |—
53857 ;gf’;‘ B JEIRF T BSE 7.8 |—
53858 ;g;’?’bz Bt JERE T BEEE 7.7 -
53859 ;g;ﬁ LY JEIRF T BSE 7.7 |—
53860 ;g;’?’bz Bt JERE T BEEE 7.7 -
53861 | 201t B JEIRF T BIE 7.7 |—
53862 | 201% 2 JERF T A E 7.7 |-
53863 | 601X Lk JEIRFT BRIE 7.8 |-
53864 | 101% Bk JERE T BEEE 7.8 |-
53865 | 501X Tk JEIRFTH FEE 7.8 |-
53866 | T701% 2 JEIRF T BRIE 7.8 |—
53867 | 601% e JEIRFTH FEE 7.7 |—
53868 | 501X i JEgF T PEEE 7.8 | BEUERE
53869 | 101% Mk JEIRFTH FEE 7.7 |—
53870 10X Qi JelRF T BESE 7.7 —
53871 10£% ik JEIRF T HEE 7.7 |—
53872 | 30f% Bk Je Mt BT .7 |—
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53873 ;g;’f% ik Gt EE 7.7
53874 ;gfé ik JElR3 T S 7.7
53875 ;g;’fé PEL s JERE T PEEE 7.7
53876 | 201X Lgis JERE T BEIE 7.8
53877 | 101% i JERE T PEEE 7.8
53878 | 601X Lgis JERE T BEIE 7.7
53879 | 301% i JERE T PEEE 7.7
53880 | 10f% LY JEIRF T FEE 7.7
53881 ;g;’?’bz Lt JER T BEIE 7.7
53882 | 20f% B JEIRF T FEE 7.7
53883 | 30f% Lt JER T BRIE 7.7
53884 | 101% Lg i JEIRF T FEE 7.7
53885 ;gfé Lt JERF T BEIE 7.7
53886 | 101% Tk JEIRFT FEE 7.7
53887 ;gfé Bk JERE T BEEE 7.7
53888 | 401t Tk JEIRFTH FEE 7.7
53889 | 20f% Lt JEIRF T BRIE 7.7
53890 | 301% e JEIRFTH FEE 7.7
53891 | 40f% Bk Je W BAE 7.7
53892 | 201% Bk JEIRFTH FEE 7.7
53893 10X Qi JelRF T BESE 7.7
53894 | 101% ik JEIRF T HEE 7.7
53895 ;gfé geqis JERE T PEEE 7.7
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53896 | 101% ik Gt EE 7.6
53897 | 40f% Bk Je Mt BAE 7.7
53898 | 201% PEL s JERE T PEEE 7.7
53899 10f% Lgis JERE T BEIE 7.7
53900 | 101% i JERE T PEEE 7.7
53901 301X B Jeli T ESE 7.7
53902 ;g;’fé PEL s JERE T PEEE 7.7
53903 | 101% LY JEIRF T BSE 7.7
53904 | 101% Bt JERE T BEEE 7.7
53905 | 101% B JEIRF T BSE 7.7
53906 | 201% Bt JERE T BEEE 7.4
53907 ;g;ﬁ Lg i JEIRF T BIE 7.7
53908 | 101% 2 JERF T BEIE 7.7
53909 | 301% Lk JEIRFT FEE 7.7
53910 | 301% Bk JERE T BEEE 7.7
53911 | 201% Lk JEIRFTH FEE 7.7
53912 | 401X Bk It BEEE 7.7
53913 | 101% Mk JEIRFTH FEE 7.7
53914 | 30f% Bk Je W BAE 7.7
53915 | 101% Mk JEIRFTH FEE 7.7
53916 | 10f% Bk Je W BAE 7.7
53917 | 101% Bk JEIRF T HEE 7.8
53918 | 40f% Bk Je Mt BAE 7.7
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53919 | 301% Bk Gt EE 7.7 |—
53920 | 10f% Bk Je Mt BT .7 |—
53921 | 201% PEL s JERE T PEEE 7.7 |—
53922 | 301% Lgis JERE T BEIE 7.7 |—
53923 | 301% i JERE T PEEE 7.7 |—
53924 4018 B Jeli T ESE 7.7 —
53925 | 401X i JERE T PEEE 7.8 |—
53926 | 201% B JEIRF T BSE 7.8 |—
53927 | 104%; 2 JER T BEIE 7.7 |—
53928 | 101% LY JEIRF T BSE 7.8 |—
53929 | 70f% 2 JER T BRIE 7.7 |-
53930 | 701k Lg i JEIRF T BIE 7.8 |—
53931 | 80f%: 2 JERF T BEIE 7.7 |-
53932 | 701k Lk JEIRFT FEE 7.8 |-
53933 | 704X Bk JERE T BEEE 7.7 | —
53934 | 501% Tk JEIRFTH FEE 7.7 | —
53935 | 601X Bk It BEEE 7.7 | RBRMFESR G A
53936 | 501% Mk JEIRFTH FEE 7.8 |—
53937 ;gfé 2 JEgF T PEEE 7.8 |—
53938 | 601% Bk JEIRFTH A E 7.8 |—
53939 10X Qi JelRF T BESE 7.8 —
53940 | 101% ik JEIRF T HEE 7.8 |—
53941 201X ik = BEE 7.8 —
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53942 | 101% Bk Gt EE 7.8 |—
53943 10X ik = BEE 7.8 —
53944 | 201% PEL s JERE T PEEE 7.7 |—
53945 1018 B Jeli T ESE 7.7 —
53946 | 101% i JERE T PEEE 7.8 |—
53947 10f% Lgis JERE T BEIE 7.7 —
53948 | 201X PEL s JERE T PEEE 7.7 |—
53949 | 301% B JEIRF T BSE 7.8 |—
53950 | 201% 2 JER T BEIE 7.8 |—
53951 | 601% LY JEIRF T BSE 7.8 |—
53952 | 501% 2 JER T BRIE 7.8 |—
53953 i?iﬁ Lg i JEIRF T HAEE 7.7 |—
53954 | 101% 2 JERF T BEIE 7.1 —
53955 | 101% Lk JEIRFT FEE 7.7 | —
53956 | 201% Bk JERE T BEEE 7.8 |-
53957 | 101% Lk JEIRFTH FEE 7.6 |—
53958 | 301% 2 JEIRF T RIE 7.6 [P TTIREERE A
53959 | 30f% L Jel T SR T KRB B A
53960 | 301% i JEgF T PEEE (RPN TS 537
53961 | 201% Tk JelR T FEE 7.7 RBRFFEE T A
53962 | 40f% Bk Je W BT .7 |—
53963 | 101% Bk JEIRF T HEE 7.7 |—
53964 10X ik = BEE 7.7 —
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53965 | 101% Bk Gt EE 7.7
53966 | 30f% Bk Je Mt BAE 7.7
53967 | 101% i JERE T PEEE 7.7
53968 501X B Jeli T ESE 7.8
53969 | 101% i JERE T PEEE 7.8
53970 | 20f% Lgis JERE T BEIE 7.5
53971 | 501X i JERE T PEEE 7.8
53972 | 501% LY JEIRF T BSE 7.8
53973 | 501X Bt JERE T BEEE 7.8
53974 | 501% LY JEIRF T BSE 7.8
53975 | 301% Bt JERE T BEEE 7.8
53976 | 301% B JEIRF T BIE 7.8
53977 | 104% 2 JERF T BEIE 7.7
53978 | 101% Tk JEIRFT FEE 7.7
53979 | 104% 2 JEIRF T BRIE 7.7
53980 | 20f% Lk JEIRFTH FEE 7.7
53981 ;gfé 2 JEIRF T BRIE 7.7
53982 ;g?’bz e JEIRFTH FEE 7.7
53983 10X Qi JelRF T BESE 7.7
53984 | 101% Bk JEIRFTH FEE 7.8
53985 301K Qi JelRF T BESE 7.8
53986 | 101% Bk JEIRF T HEE 7.8
53987 10X ik = BEE 7.8
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53988 | 101% ik Gt EE 7.8
53989 | 20f% Bk Je Mt BAE 7.8
53990 | 401% PEL s JERE T PEEE 7.8
53991 ;gfé ik JERE T BEIE 7.8
53992 | 101% i JERE T PEEE 7.8
53993 | 201% Lgis JERE T BEIE 7.8
53994 | 201% i JERE T PEEE 7.8
53995 | 401t LY JEIRF T BSE 7.8
53996 | 20f%; 2 JER T BEIE 7.8
53997 | 301% B JEIRF T BSE 7.8
53998 | 301% Bt JERE T BEEE 7.8
53999 | 401t Lg i JEIRF T BIE 7.8
54000 | 104%; 2 JERF T BEIE 7.8
54001 | 201% Tk JEIRFT FEE 7.8
54002 ;gfé Bk JERE T BEEE 7.8
54003 | 80f% Tk JEIRFTH FEE 7.8
54004 | 104% Bk It BEEE 7.8
54005 | 401% Mk JEIRFTH FEE 7.8
54006 10X Qi JelRF T BESE 7.8
54007 | 101% Mk JEIRFTH FEE 7.8
54008 | 10f% Bk Je W BAE 7.8
54009 | 201% ik JEIRF T HEE 7.8
54010 10X ik = BEE 7.8
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54011 104X ik Gt EE 7.8
54012 201X ik = BEE 7.8
54013 | 101% PEL s JERE T PEEE 7.8
54014 | 10f% Lgis JERE T BEIE 7.8
54015 | 101% i JERE T PEEE 7.8
54016 301X B Jeli T ESE 7.8
54017 | 104% i JERE T PEEE 7.8
54018 | 101% B JEIRF T BSE 7.8
54019 | 104% Bt JERE T BEEE 7.8
54020 | 40f% B JEIRF T BSE 7.8
54021 | 301% Bt JERE T BEEE 7.8
54022 | 401% B JEIRF T BIE 7.8
54023 | 101% 2 JERF T BEIE 7.8
54024 | 101% Lk JEIRFT FEE 7.8
54025 | 101% 2 JEIRF T BRIE 7.8
54026 | 301% Lk JEIRFTH FEE 7.8
54027 | 104% Bk It BEEE 7.8
54028 | 201% e JEIRFTH FEE 7.8
54029 601X Qi JelRF T BESE 7.8
54030 | 501% Mk JEIRFTH FEE 7.8
54031 301K Qi JelRF T BESE 7.8
54032 | 401% Bk JEIRF T HEE 7.8
54033 10X ik = BEE 7.8
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54034 ;g;’f% ik Gt EE 7.8 |—

54035 | 10f% Bk Je Mt BT 7.8 |—

54036 | 201% PEL s JERE T PEEE 7.8 |—

54037 ;gfé ik JERE T BEIE 7.8 |-

54038 ;g;’fé i JERE T PEEE 7.8 |—

54039 | 10% Lgis JERE T BEIE 7.8 |-

54040 | 101% PEL s JERE T PEEE 7.8 |—

54041 ;g;ﬁ LY JEIRF T BSE 7.8 |—

54042 | 201% Bt JERE T BEEE 7.8 |-

54043 | 101% B JEIRF T BSE 7.8 |—

54044 | 104%; 2 JER T BRIE 7.8 |—

54045 | 201% Lg i JEIRF T BIE 7.8 |—

54046 | 104%; 2 JERF T BEIE 7.8 |—

54047 | 301% Tk JEIRFT FEE 7.8 |-

54048 ;gfé Bk JERE T BEEE 7.7 | —

54049 | 101% Tk JEIRFTH FEE 7.7 | —

54050 | 20f%; 2 JEIRF T BRIE 7.8 |—

54051 | 40f% g JEIRFTH BEE 7.8 |BRUERHE
5052 | LR | e o i 7 Bl
54053 ;g?’bz g JEIRFTH BEE 7.8 |BRUERHE
54054 ;gfé M JERFTTi PEEE 7.8 | BEUERE
54055 ;g?’bz g JEIRF T BEE .1 | BRUERHE
54056 ;’gfé M JElR3 T PEEE .1 | BERUERSE
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54057 | 101% Bk Gt EE 7.8 |—

54058 | 10f% Bk Je Mt BT 7.8 |—

54059 | 101% PEL s JERE T PEEE 7.8 |—

54060 1018 B Jeli T ESE 7.8 —

54061 10£% i JERE T PEEE 7.8 |—

54062 1018 B Jeli T ESE 7.8 —

54063 | 101X i JERE T PEEE 7.8 |—

54064 | 101% B JEIRF T BSE 7.8 |—

54065 | 101% 2 JER T BEIE 7.8 |—

54066 ;g;ﬁ LY JEIRF T BSE 7.8 |—

54067 | 50fX Bk WK T HAE .7 |—

54068 | 501% B PR T BIE 7.7 |—

54069 | 301% B N BEEE 7.7 —

54070 | 201% Tk JEIRFT FEE 7.7 | —

54071 | 401K Bk JERE T BEEE 7.8 | JRERFER G A
54072 | 601X Lk JEIRFTH FEE 7.8 |-

54073 | 501% 2 JEIRF T BRIE 7.8 |—

54074 | 401K e JEIRFTH FEE 7.8 |—

54075 | 201X i JEgF T PEEE 2.1 |BUERHE
54076 | 501% Mk JEIRFTH FEE 7.8 |—

54077 ;gfé 2 JERFTTi PEEE 7.8 |-

54078 | 701X Bk JEIRF T HEE 7.8 |—

54079 ;gfé B JERE T PEEE 7.8 —
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54080 | 401% ik Gt EE 7.8 |—
54081 50K ik = BEE 7.8 —
54082 | 201% PEL s JERE T PEEE 7.8 |—
54083 | 201X Lgis JERE T BEIE 7.8 |-
54084 | 301% ik =) PEEE 7.8 |RBRIFFELHT A~
54085 ;gfé Bk JERE T BEIE 7.8 |-
54086 | 101% PEL s JERE T PEEE 7.8 |—
54087 | 501% LY JEIRF T FEE 7.8 |—
54088 ;g;’?’bz Bt JERE T BEEE 7.8 |-
54089 | 501% LY JEIRF T FEE 7.8 |—
54090 | 704%; 2 JER T HH 2 7.8 |—
54091 1048 Lg i JEIRF T FEE 7.8 |—
54092 | 104%; 2 JERF T BEIE 7.8 |—
54093 | 20f% Lk JEIRFT FEE 7.8 |-
54094 | 20f%; 2 JEIRF T BRIE 7.8 |—
54095 | 20f% Lk JEIRFTH FEE 7.8 |-
54096 ;gfé 2 JEIRF T BRIE 7.8 |—
54097 ;g?’bz e JEIRFTH FEE 7.8 |—
54098 10X Qi JelRF T BESE 7.8 —
54099 | 101% Mk JEIRFTH FEE 7.8 |—
54100 | 10f% Bk Je W BT 7.8 |—
54101 10£% ik JEIRF T HEE 7.8 |—
54102 301K ik = BEE 7.8 —
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54103 | 201% Bk Gt EE 7.5
54104 10X ik = BEE 7.8
54105 | 201% i JERE T PEEE 7.8
54106 | 401X Lgis JERE T BEIE 7.8
54107 | 201% i JERE T PEEE 7.8
54108 | 401X Lgis JERE T BEIE 7.8
54109 | 401% PEL s JERE T PEEE 7.8
54110 | 301% LY JEIRF T FEE 7.8
54111 101X Bt JERE T BEEE 7.8
54112 ;g;ﬁ LY JEIRF T FEE 7.8
54113 | 30f% 2 JER T BRIE 7.8
54114 ;gf’;‘ B JEIRF T FEE 7.8
54115 | 204%; 2 JERF T BEIE 7.8
54116 | 201% Tk JEIRFT FEE 7.8
54117 | 204% Bk JERE T BEEE 7.8
54118 | 501% Lk JEIRFTH FEE 7.8
54119 | 60f%; 2 JEIRF T BRIE 7.8




